Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

OpenEVSE
Current - v5.5/v5.6 OpenEVSE Advanced

This guide provides step by step instructions to build an "Advanced" and "Value" OpenEVSE kit.

Written By: Christopher Howell

This document was generated on 2024-03-02 02:14:20 PM (MST).

© 2024 openevse.dozuki.com/ Page 1 of 13



Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

INTRODUCTION

OpenEVSE Store - Purchase this OpenEVSE Kit

Warning Assembly of a Electric Vehicle charging station requires wiring Alternating Current (AC)
components that will be exposed to voltages from 100 to 250v. If you do not have the experience
and knowledge required to safely work with AC voltages please consult with an experienced
electrician for assistance and inspection of your work.

Note Regularly inspect your charging station. Pay special attention to excess heat, components,
handles, and wiring will be warm but they should not be HOT...

Always Disconnect your charging station from power before performing an inspection and/or
maintenance

This document was generated on 2024-03-02 02:14:20 PM (MST).
© 2024 openevse.dozuki.com/ Page 2 of 13


https://store.openevse.com

Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 1 — Connection Diagrams

e
ISP1 12¢ FTDI Serial
Connector: 5T PH
e :: : :g:“ SC8E[Z E g Housing: PHR-4/PHR-6
+5V DC ol gu g [EFB xS Pins: SPH-002T
CXOONCET Y YY)
a ] |Earth Ground
= PPIEC
= to = CP Control Pilat
=2
3 3
jo8 \C_TEST 1 <2
o AC RELAY COIL2 _E’g DC Relay 1 GND
AC RELAY COIL 1 — DC Relay C +12v
¢ ) -AC iNPUTZ- =9 DC Relay 2 GND
ACINPUT 1 Ag
&

Connector: JST VH
Housing: VHR-6N

‘ Earth Ground
Pins: SVH-21T-P1.1
GFCl Coil PN: CREA20-1K.GT7ac @8] @
Custom Harnesses =

Current Coil PN: CR8450-1K-T7QC
available contact
support@openevse.com

GFeicoil

et manaa e

GFCICT1
GFCICT 2

OpaNEVSEVSS
EV Output

SAE JLTIEC Type 1

EE O ——— ,n, 0 EVSE
:
€€ Type 2 Single e i S ] I = pen

Duow:
ccsAEvam [ T T

AC Input 208 - 264% AC
50.0r 60HT

ToF1

/N These documents will assist with the steps that follow.

@ OpenEVSE Board Pins and Connections Download PDF

@ Station Wiring Diagram Download PDF

This document was generated on 2024-03-02 02:14:20 PM (MST).

© 2024 openevse.dozuki.com/ Page 3 of 13


https://github.com/OpenEVSE/OpenEVSE_PLUS/blob/master/OpenEVSE_PLUS_v5.5/OpenEVSE_v5.5.pdf
https://github.com/OpenEVSE/OpenEVSE_PLUS/blob/master/OpenEVSE_PLUS_v5.5/Advanced_2023.pdf

Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 2 — Prepare Relay

® Connect RED and BLACK wires to BOTTOM terminals on one side of the contactor

® (Connect the GREY wires to the terminals in the middle of the contactor

Connect the ORANGE wires to the TOP terminals on the opposite side.

This document was generated on 2024-03-02 02:14:20 PM (MST).

© 2024 openevse.dozuki.com/ Page 4 of 13



Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 3 — Mounting Plate

® Position the plate with the FOUR holes for the OpenEVSE controller up top-left.

® Mount the FOUR 4.5 Hex x 10mm standoffs to the top side of the plate with FOUR M2.5 x 6 mm
screws.

@ Tip - use blue LOCTITE on each screw to ensure it remains tight.
® Mount the Packard Contactor using FOUR 1/4" self threading screws.

® Mount ground bar to the plate with ONE washer and ONE 1/4" self threading screw.

This document was generated on 2024-03-02 02:14:20 PM (MST).

© 2024 openevse.dozuki.com/ Page 5 of 13



Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 4 — Mount Enclosure Plate

® Mount plate in enclosure with SIX coarse threaded 6mm screws. 2 top, 2 middle, 2 bottom 1 each
Left and Right

® Install the TWO cable glands.

/N Ensure all 6 wires from the relay stay HIGH in the enclosure and AWAY from all low voltage wires
going to the controller, WiFi, display, coils and Ground.

This document was generated on 2024-03-02 02:14:20 PM (MST).

© 2024 openevse.dozuki.com/ Page 6 of 13



Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 5 — EV Cable

® |[nsert EV Cable through the Cable Gland on the right and tighten.

® Connect the ground wire to the ground block.

&\ Route the ground, pilot and coil wires low in the enclosure to avoid crossing any high voltage
wires or components.

® Thread ALL hot and neutral lines through the 4 wire GFCI coil. UPDATE - coils with black and
white wire, the orange self test wrap is now internal to coil.

Do not thread the ground wire or pilot wire through.
Advanced Series Only - Thread EITHER hot OR neutral through the Current Measurement Caoil.

Tip - zip tie smaller wires together near the top and bottom to keep them neat and out of the way.

This document was generated on 2024-03-02 02:14:20 PM (MST).
© 2024 openevse.dozuki.com/ Page 7 of 13



Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 6 — Connect EV Cable

® Secure the wire ferrules RED and BLACK wires on the EV cable directly to contactor.
@ Ensure both EV cable wires have good contact directly to the contactor and the screw is tight.

A\ Preventative maintenance. It is recommended the terminals are inspected annually to ensure
the screw connection is tight.

@ Tip - run the low voltage wires on the bottom. Ensure they is plenty of clearance.

This document was generated on 2024-03-02 02:14:20 PM (MST).

© 2024 openevse.dozuki.com/ Page 8 of 13



Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 7 — Input Cable

® |[nsert the input cable through the left gland.

® Connect the ground wire to the ground block.

® Screw the RED wire on the INPUT cable power conductor to the top position of contactor along
with the red wire on the wiring harness.

@ Ensure both Input cable terminals have good contact directly to the contactor pads and the
screw is tight.

A\ Preventative maintenance. It is recommended the terminals are inspected annually to ensure
the screw connection is tight.

® Screw the BLACK terminal on the INPUT cable power conductor to the bottom position of relay
along with the black wire on the wiring harness.

@ Tip - run the small power wire to the controller in low in the enclosure.

This document was generated on 2024-03-02 02:14:20 PM (MST).
© 2024 openevse.dozuki.com/ Page 9 of 13



Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 8 — OpenEVSE Controller

A\ Static sensitive - Lift controller by
board edges or AC/DC power
supply. Do not touch components.

® Mount OpenEVSE controller to the
hex standoffs with FOUR M2.5 x
6mm screws.

® Connect the control pilot (CP) wire
to the OpenEVSE controller.

This document was generated on 2024-03-02 02:14:20 PM (MST).

© 2024 openevse.dozuki.com/ Page 10 of 13



Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 9 — Controller Wiring

[=
33
c
«8
o2

o
3
=
Z
s
A
\ 4

0
N
-
(=]
<

w
-
=
a
(=]
=
o
w
H
o
a
(%]
<
o
<

.
ACL) ACN

& View OpenEVSE v5 Diagram - Step 1 for wires named below.

® Connect the keyed wiring harnesses to OpenEVSE controller.
@ Wire colors may vary.

® Connect the 2 wire connector from the larger coil (current measurement) to the OpenEVSE
controller.

® Connect the 4 wire connector from the smaller coil (ground fault) to the OpenEVSE controller.
® Connect the 6 pin LCD/WiFi cable to the controller.

@ Connect the 4 pin Temperature sensor Cable to the controller.

This document was generated on 2024-03-02 02:14:20 PM (MST).
© 2024 openevse.dozuki.com/ Page 11 of 13



Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 10 — Display and Temperature Sensor

A\ Static sensitive - Lift display by board edges. Do not touch components.

® Remove protective film from display
® Attach display to lid using 4 coarse threaded screws.
©® Connect 6 pin cable to display on left side. (connector under the BOOT and RESET buttons.

® Connect the temperature sensor to the 4 pin connector on the OpenEVSE controller.

This document was generated on 2024-03-02 02:14:20 PM (MST).

© 2024 openevse.dozuki.com/ Page 12 of 13



Current - v5.5/v5.6 OpenEVSE A.. Guide ID: 26 - Draft: 2024-02-29

Step 11 — Finishing Up

® Place the enclosure lid on and
ensure there are no wires pinched
in the lid.

® Start all SIX 6-32 x 1 1/4" screws
before tightening.

A Tighten all SIX so the lid slightly
squishes down slightly on the clear
seal embedded into the lid. Do not
over-tighten.

® Mount station with template.
Mounting Your Charqging Station
Quick Start Guide

® Setup Wifi - WiFi - Join Network
Quick Start Guide

This document was generated on 2024-03-02 02:14:20 PM (MST).

© 2024 openevse.dozuki.com/ Page 13 of 13


https://openevse.dozuki.com/Guide/Mounting+Your+Charging+Station/22
https://openevse.dozuki.com/Guide/WiFi+-+Join+Network/29

	Current - v5.5/v5.6 OpenEVSE Advanced
	Written By: Christopher Howell
	INTRODUCTION
	Step 1 — Connection Diagrams
	Step 2 — Prepare Relay
	Step 3 — Mounting Plate
	Step 4 — Mount Enclosure Plate
	Step 5 — EV Cable
	Step 6 — Connect EV Cable
	Step 7 — Input Cable
	Step 8 — OpenEVSE Controller
	Step 9 — Controller Wiring
	Step 10 — Display and Temperature Sensor
	Step 11 — Finishing Up


